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x(\t) = ( Data — Model ACsBsF ) / o x

»*/(390085-5375)=0.912=>1.008
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Continuum Lightcurve

m314 med(mad)% c5
T F 7 — T T T T T T 1 T
0 Ac(16458) —1.2(12.8)% S/N 46 +
i S
{o
— e}
L 4
T
(Iﬂm - = T - - = oo o o o o - =
€ o
o
o R - i - . k
i
[nd
[
= -
<
<O -
<9
9708 ) 12634 ) 16458 ) 21428 )
7000 7500 8000 8500 9000
MJD — 2450000
BLR Lightcurve
rm314
[ T T T T 1

S/N BLR 15 CHI] 13 Hell 19 SAV 12 NV 13 Lt 31

'3 i
Do -
NV
Hell
? cm]
PR P B P B PR BLR
7000 7500 8000 8500 9000
MJD — 2450000
Phot Corrections
rm314 med(mad)% Ap 1
— T T T T — T T T T T
Ap 100% S/N —-9.2 ]
- Prior(Ap) 5.0 %
0
=
n
(=]
=}
1 " " 1 " " 1 " " 1 " 1 i
7000 7500 8000 8500 9000
MJD — 2450000
u = 0.0109(49) x = 0.922(16) => 0.922(16)
rm314 med(mad) AC,BF
T T T T T — 1 T —

x
el -
swl| i
3 o
o == — =5 U
1|| I n 1 n n 1 n n 1 n n n ’ 1 n n I-
7000 7500 8000 8500 9000 _

MJD — 2450000



